



03/31/2023 10:00 AM | Install Day 1 04/01/2023 09:00 AM | Install Day 2 04/02/2023 08:00 AM | Strike PO: Shipping Address: The Sound 2260 Jimmy Durante Blvd, Del Mar, CA 92014

On Site Contact: Matias (323) 684-7385

Brown Hot Events

Invoice Date:

Due Date: Upon Receipt

Salesperson: Milana Ayvazova

Description		Qtty	Price		Total
Dance Floor - I	NEED TO UNLOAD FIRST				
	Chandelier - Amsterdam - Geometrical Sphere 3' no rouching, extra cords/safteys to hang low	7	\$550.00	Т	\$3,850.00
	Chandelier - Amsterdam - Geometrical Sphere 4' no rouching, extra cords/safteys to hang low	5	\$650.00	Т	\$3,250.00
	Chandelier - Amsterdam - Geometrical Sphere 5' no rouching, extra cords/safteys to hang low	3	\$750.00	Т	\$2,250.00
	Total Danc	e Floor - NEED	TO UNLOAD FIF	\$9,350.00	
2nd Floor					
	Panels - Berlin - Hard Panel W/ Sequins & Black Background 4'W x 8'H, attach to railing,	6	\$500.00	Т	\$3,000.00
	Drape 30' W x 12'H stock black, pipe and base	1	\$450.00	Т	\$450.00
			Total 2nd Floor		\$3,450.00
Entrance					
	Oversize Props - Lightbulb Arches pained gold	3	\$3,000.00	Т	\$9,000.00
			Total Entrance		\$9,000.00
Inferno					
	Sofas - Prague - Black Velvet Chaise Lounge	1	\$450.00	Т	\$450.00

Description		Qtty	Price		Total
	Sofas - Prague - Black Velvet	1	\$450.00	Т	\$450.00
	Sofas - Prague - Red Velvet Chaise Longue	1	\$450.00	T	\$450.00
	Sofas - Prague - Red Velvet	1	\$450.00	Т	\$450.00
	Club & Lounge Chairs - Prague - Club Chair Black Velvet	2	\$200.00	T	\$400.00
	Club & Lounge Chairs - Prague - Club Chair Red Velvet	2	\$200.00	Т	\$400.00
-	Top Hats - Monaco - Black Velvet	1	\$700.00	Т	\$700.00
	Accent Pillows black and red velvet (suede as second option)	16	\$40.00	Т	\$640.00
	Garden Fire Pit - Whitewash 01 black high gloss	4	\$600.00	T	\$2,400.00
	Bars - Moscow - Gold Straight 6' frame painted black	4	\$900.00	Т	\$3,600.00
	Buffets & Display Tables - Moscow - Rectangular Chandelier Display Table	2	\$480.00	Т	\$960.00
	Bars - Monaco - Straight Beveled Edges 8' painted black with gold mirror plexi front	2	\$900.00	Т	\$1,800.00
			Total Inferno		\$12,700.00
Alphabet City					
	Chandeliers - Wire Frame W/ Acrylic Drops 02 77"W \times 41"L \times 53"H - LED 500W, white rouching,	2	\$900.00	Т	\$1,800.00
	Dj Booths - Berlin - Multi Mirror Large	1	\$500.00	Т	\$500.00
S IN SE	Bars - Berlin - Mirror Straight 8' white frame	2	\$800.00	Т	\$1,600.00

Description		Qtty	Price		Total
	Barback - Munich - Chrome W/ Glass Shelves & Base	2	\$200.00	Т	\$400.00
	Sofas - Madrid - Round - Off White Boucle including existing pillows	3	\$450.00	T	\$1,350.00
	Coffee Tables - Antique Silver Nesting Tables	3	\$275.00	T	\$825.00
	Accent Pillows white pillows boucle and velvet	12	\$40.00	Т	\$480.00
			Total Alphabet	City	\$6,955.00
Lobby					
	Dj Booths - Nice - Oval Light Up - Silver painted black, *MAKE SURE TO HAVE LIGHTS*	1	\$450.00	T	\$450.00
_	Buffets & Display Tables - Boston - Buffet White 12' painted all black high gloss, *poke, pizza, asian*	3	\$750.00	Т	\$2,250.00
_	Buffets & Display Tables - Boston - Buffet White 8' painted all black high gloss, 1- cones painted in white, 2- paella painted in white	3	\$600.00	Т	\$1,800.00
			Total Lobby		\$4,500.00
Stage					
	Panels - Gold Wrinkle Fabric Hard Panel L brackets, sandbags, TBD hanging from truss - send hooks or something to rig with	8	\$400.00	T	\$3,200.00
	Chandelier - Moscow - Rectangular Large 8"W x 53"L x 96"H - 50lb	8	\$700.00	T	\$5,600.00
			Total Stage		\$8,800.00
Speakeasy					
	Booths - Boston - 4 Seat Grey	3	\$700.00	Т	\$2,100.00
	Coffee Tables - Ibiza - Faux Marble Black & White Striped	3	\$275.00	T	\$825.00
\equiv	Bars - Beverly Hills - Wood 8' painted high gloss black	1	\$950.00	Т	\$950.00

Description		Qtty	Price		Total
	Barback - Tokyo - Straight Basic 8' - Metal painted high gloss black	1	\$330.00	Т	\$330.00
	Floor Lamp - Abu Dhabi - W/ Lamp Shade	3	\$200.00	Т	\$600.00
Ţ	Accent Table - London - Artisan Round	3	\$100.00	Т	\$300.00
	Ottomans - Hollywood - Grey W/ Brass Base	8	\$50.00	Т	\$400.00
	Accent Pillows black ivory champagne	12	\$40.00	Т	\$480.00
			Total Speakeasy		\$5,985.00
Misc:					
	Hooks to rig panels	1	\$0.00	Т	\$0.00
	Touchup Paint and Brushes - BLACK high gloss	1	\$0.00	Т	\$0.00
	Tall Ladders	1	\$0.00	Т	\$0.00
	Roll Of Lycra - Black	1	\$0.00	Т	\$0.00
	Rope	1	\$0.00	Т	\$0.00
			Total Misc:		\$0.00
Services					
	Install Day 1: Drive and Install	8	\$650.00		\$5,200.00
	Install Day 2:	8	\$600.00		\$4,800.00
	Strike and Drive Back	8	\$650.00		\$5,200.00
	Trucks + Gas Surchage	6	\$850.00		\$5,100.00
	Per Diems - 8 Guys 3 Days	8	\$222.00		\$1,776.00
	Hotel Rooms: 4 rooms, 2 nights	4	\$520.00		\$2,080.00
	Misc: Supplies, Materials, Wrapping, etc.	1	\$1,900.00		\$1,900.00
	Manager Fees: Productions, revisions, etc.	1	\$250.00		\$250.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it

Total Products: \$60,740.00
Total Labor/Services/Misc: \$26,306.00
Taxes (tax excempt): \$0.00

ax excempt): \$0.00 Discounts: (\$3,020.50)

Notes

Total: \$84,025.50 Payments: (\$45,000.00)

Balance: \$39,025.50